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That betrothed groom and bride - YNNI OYIN lmrm]

OVERVIEW

The X713 is discussing a case of an 701X who became pregnant. The issue at
hand is the status of the child.> Was the child fathered by the o1 and
therefore a "w> 773, or did a stranger father the child and therefore he is a
qmn? 70 27 ruled that there is nothing to be concerned about. Firstly the
017X admitted that he had relations with the 7017X (therefore we presume the
child is his). Secondly (according to N1©0I1N understanding — even if the 01X
would not be present and claim that he had relations with the 7017, there
still is no concern), since the woman claims the 017X fathered the child (she
claims she only had relations with the 017X), the child will also be w3, since
5XI17W maintains that the 7997 is "7, who rules that the 7wX is believed to
claim *n%ya1 w>%.

There is another X3 cited in M»2° and PWYTP, which records a nponn
between XMWY 27 in a similar situation; where an 701X bore a child. 21
maintains that the child is a 211 and XY maintains the child is a *PnW; a
qman poo. There are variations as to the exact nature of this np1onn. Our
moon will reconcile various differences between the n1ao.

mdoIN begins by quoting the X210 in PWTP:
= 10 111 1IN DY NN NN (8,79 97 pwrp) PN NIYYA 9INT NI

And that which the X713 relates in 9o 79ww P79, it was discussed; if a

betrothed groom came upon his bride in his father-in-law’s house and she

had a child —
— s’pm\v 910 9N INIIYI 9101 790 9N 29

21 maintains that the child is a 91»%, and X% maintains that the child is

" The following three mooIn beginning with 018 X177 until ('27) X770 are bracketed in our text. According to
the marginal note these M»doIN were missing in earlier manuscripts. Many commentaries (including the
R"wAnn "X MdOIN and 7w 2"771) do not comment on these NMdOIN.

% See later ("27) X771 7"7 MOOMN.

? Generally, a bride and groom are prohibited from having relations until the XWw°3; when the bride leaves
her father’s house and moves in with her husband.

* We assume that since she is a promiscuous woman, who had an illicit relation with her groom, she also
must have had relations with other men and one of them fathered the child, therefore he is a 9mn. The child
cannot marry a (n°)?X°. However the child may marry a (n)7mn

A "»InW refers to a child whose father is unknown. When the child calls out ‘father’ to someone, the child

is hushed; hence the name *1nw, the hushed one.
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a SPINW; he cannot marry a PX 2 because he may be a 21n, and he cannot marry a 2man
because he may be a w3.° This concludes the citing of the X 7.

nmoYIN continues that we must say that the npY>nn between XMWY 27 is in a case —
= IRNYIN ININYT ROVYP 1PTaYWIA INT 1IN NN P73 NOWO

where they did not inquire of the child’s mother, who the father is.
Therefore ?XW maintains that the child is a *Pnw, a mn poo; for if the

npYonn is in a case where they did inquire of the mother and she said the
child is the son of the 017x;’ she claims she had no relations with anyone
else except her 017X, then there is a contradiction from X2 in our X713 to
BRI in PYITP NON.

m»doIN goes on to explain the contradiction:
— NINYT INNIY 9N NONT
For here Y8122 maintains that she is believed. If the 7017 claims that the child
is from the 017X she is believed and the child is 7w>. Md01N continues to explain where
XMW says that she is believed: 701 27 stated that there is no concern in our case. Firstly
because the 017X admitted that he is the father and secondly (meaning that even if the 017X
did not admit that he is the father,8 there is still no concern for the child) -
= NIINIT YNNI 1295 NaYnY
because X mw stated that the 7597 is like 3''2 that the woman is believed to
claim °n%y21 9wo%. Ao 27 maintains that even if the 01X did not admit that he is the
father, nevertheless the child is w2, since XMW maintains that the 75%7 is 3"92. That
proves that according to >Rmw if the 701X claims that the child is from the 017X she is
believed even if the 017X did not substantiate her claim —
= 9010 19N N HNINIY 9‘[12’N 99NP ONM
And there in 7PU17°P the X713 said reverse the aforementioned opinions of
XMWY 27. According to the reversal 27 maintains W 7917, and YRR

maintains that the child is a =37, This is in contradiction to our X713 where YX1nw
maintains that the 791 is w3 if the 701X claims that the child is from the 011X.'% Therefore

%It is not certain who is the father of this child; it may be the 91X or it may be another man.

"It certainly cannot be in a case where she admits that the child is from someone else, for then how can
anyone maintain that the 721 is a *pinw. If the child is from anyone but the 017X the child is a ran *X7.

8 This does not mean that the 01X claimed that he had no relations with the 101x; for then the child could
not be 7w>. Rather it means that the 019X was not available to testify and support her claim.

? The X there initially said 719°X in order to avoid a contradiction between two rulings of 2.

12 See w"wn who explains why it was necessary for maoIn to pose the contradiction (only) according to the
T9°K; seemingly there is a contradiction even if PX¥W maintains *PInWw 7737, for here he maintains that 7917
w2. The w"w" answers that we could (mistakenly) interpret the term *P1n¥ to mean that he cannot inherit
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in order to avoid this contradiction we are required to assume that in the PwI7P X713
(since PRMW maintains PN 7217 or rAn 7217), we are discussing a case where the 701K
made no claim as to the status of the child; she did not clearly state that she had no
relations with anyone besides the 017X.

mooIn offers an additional proof that there is a difference whether the 70198 claims the
child is from the 017X or not:
= 9915 719N KXY ONIYY 0NN YN NIPODNIAT ¥NIYN 199

And it is so indicated that there is a difference whether %X DX 1272 or not,
for in the conclusion, the X713 there answers, ‘really there is no need for a

reversal’, etc.; we can retain the original text that 27 maintains that the child is a 7ran
and PX1MW maintains that he is a PN —
- Pynbyay 9wah NPINY IR NN PPNAY SPINY NN Y9N

And the X723 explains; what did X2 mean by 0w (not that he is a P50
qman, but rather) that we inquire of his mother and she says I had

relations with an 9w> 07X; namely, only with the 017X, she is believed. It is evident
from that X7n3 that the 701X is believed to say the child is from the o1x."

In summation: The first question of M0n dealt with a seeming contradiction. In our X723
it is the opinion of ?XmWw that the child of an 701X is w3, and in PWYTP Noon however,
51w maintains that the child of an 7019R is either a *P\nW or a 7rAn. MDOIN answers that
the child is a >N or a 7mn only if the mother made no claim. If the mother claims that
the 017X fathered the child, she is believed and the child is w>.

mooIn has an additional difficulty:
= P72 9311 10N H%12 INTIIN HY N2 XPIT ¥IYN ONNT INNIYY ININ 99NN ON)

And if you will say; that there is still a difficulty on Y2, for there in '0n
Tw17R it appears the inquiring of the mother is effective only when it was
known that he had relations with his 781X in his father-in-law’s house."

the s'01R estate (but not that he is X7 na2 7oR), for the other heirs can claim, that the >»\nw cannot
inherit the 017X unless he proves that he is a legitimate son. w">v.

" According to the new vw» in the X3 there, it was necessary to explain what 5X1w% meant by *p1nw.

'2 The Xn3 there continues to cite our X3 that ?X1w maintains 3" 7297

" To summarize the X3 in 7217p: According to the original reading YX%w maintained *»nw 7217, which
means he is a 71 P90 and NP PRI NoR. We therefore are required to say that it is a case where &>
MR DR P72, According to the 719°X, the opinion of 2R is that he is a 7mn; which certainly requires us to
say that X nX P72 X2, According to the 719°n X7 07Ww5, then when 2R said *Pwnw 7237 we interpret it to
mean *?173; we ask the mother and accept her claim that the child is from the 017X.

' mooin is discussing the 712°n XY 099, where YX1mw maintains that the child is a P72 (PN *Xn)'.
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The text of the X713 there is 101X ¥ X27; this indicates that it is known (whether through

their admission or a°7v) that they had relations —
- 5991 1299 P1INNIT INIDY IR AN XY 23 1999 $RYN NN

However here from our X723 it seems even if the 017X does not admit to
having relations with the 7017X; it is not known whether they lived together,

nevertheless Ryw maintains that she is believed; for "X ruled like 3''
that the woman is believed to claim °n%y21 2w>%. The question is why does the X3 in
TWITR state 121 INOIR Y X27', which indicates that it is known that the 791X 019X had a
relationship, inferring that only in such a situation would »Xmw believe her testimony;'®
when in our X773 it states that PXmw maintains that we always believe her testimony even
if are not sure that they had relations.

MooIN answers:
= 9139 10N 91N 51 IDPANT NOVPI 297 XM DIVN 13291 N2 VPIT NNT D Y

And we can say that the X7n3 in PY1Tp also agrees that according to X
she 1s believed even in a case where we did not know (through his
admission, etc.) that he was 101X ¥ X3, but the reason that the X713 used
the phrase R3; indicating that we knew that they had relations that was
mentioned to emphasize the novelty of s'29 opinion; that even though we
know that the 770171 017X had relations nevertheless 17 maintains that the

child is a 917, However “Xmw will maintain that if the 701X claims the child is from
the 017X, she will always be believed even if it was not 'R2'.

moon offers an additional answer to the question why it says 21 x277:"’
= NDYN NHTTA 99INT DIVN NI 139¥aT NI 0NN 99) ON

or you may also say that generally the 71017X is believed even without 'X2',
however only there in 72177 is K2 required in order that she be believed
because there the case is concerning an 707X who is generally

promiscuous. In the case of a promiscuous 701X we say that she is believed that the
child is fathered by the 017X only when it is known that she and the 017X had relations.
That is why the X713 there uses the term 'R27".

15 noY 27 states "M, meaning, even if the 01X is not 77, she is still believed, for XMW claims 2"93 7391
16 When it is known for a fact that the 019X 917X had relations, it is more likely to assume and believe
them that the child is fathered by the 017X, and not from someone else. However, when we are not sure that
they had relations then it is more likely that the child is fathered by someone else, and hence a qmn.

Tt is possible that Mmoo is not satisfied with the previous answer that 'X277' is written 277 Xm27% that the
child is a 711 even it was X2. For if it would be preferable not to have written 'X277', and then it would be
OXMWT Xn121 that nevertheless the child is 7w>. There is a rule that 7>7¥ RIn°77 n13; it is a greater W71 to be
7°nn than to be 10X, The w1°n according to XMW would have been greater than the w171 according to 21.
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moon will support his contention that the X773 in Pw17R is discussing a case of K177
Rnovn:
= NDYMI NIDTTA 297 XN NIANDN D11 1N3Y NYN ¥NTYA N33 N2 9INT

as N31 stated in n»3° noon in  the end of a''75% mambK po,'® it s
reasonable to assume that the ruling of 29 (that the child is a 7mn), is in a
case when she is promiscuous in general. This indicates that (at least according
to X27) the NP2 of INOIKR HY K27 is in a case of ¥n7yn X7, This explains why in PwTp

we require that it should be 101X %Y X277 —
= NDYNI NNDT NDTA NI

And here we are discussing a case where the 01X was not Nuby» K»»7T;
therefore she is believed in her claim even if we do not know from the 917X that he had
relations with the 7017R.

nooIn offers a new answer to the contradiction:
= 9259V NDIIN PYITPA D9) 029900 Y237 N

And furthermore there is no contradiction at all, for all the texts in noon
PR read (not "m0 022 NOR DY X237 [as we have it in our text]), but
rather, ‘an 170198 who became pregnant’. Therefore both in our X923 and in U7

agree that according to 7X1mw she is believed even if we do not know that the 701X 01K
had relations.

mooIN anticipates a slight difficulty. From the &3 in 217p (according to the X7 22w
"119°n), it appears that the child is "> only after we inquire by the mother; however here
7o 17 stated that 7 Xp X77 X717 indicating that no 72°72 is necessary. Md01N explains:

= 995 NPT NN NN NI DAN PPNV MNP XPIT XN

And only in that case did 7% rule that we inquire of her who the father
is and we believe her, since it was not known whether they had relations
(according to the Xo7°x of '0*d0n 92'), however in a case where it is known
that X2; they had relations, as in our X723 where the 017X admits, then no

investigation is required of her at all. Even if she is not asked, the child is
presumed to be Ww>.

In summation: The second question of M201N and its answers establish that according to
X1, the 01X is believed even if it was not X2; we do not know for certain that the 017X
7017RY had relations. When we know that it was X2 (through the admittance of the 017X),
then even 72°72 is not required and the child is w>.

18 9,00 7.
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mooIn has an additional difficulty:
= N33 HNINYI 29 919997 NINDN P 9103 M NNP NIWIHY NYP 11919

However, there is a difficulty according to the first opinion in 03> nJon
in the end of 73X P75, which maintains that 21 and »X»w argue in the

case of 1NO1R Hv Na."”
- 53559 Y XY XY 22 HY N1 AN ONN HIOND)

And 2R concludes there that X1 17 argue even if she is not x%>7

Nnb¥n; and 21 maintains that even if X727 X2 nevertheless the 721 is a Tmn. »ax explains

the opinion of 27 —
- XYY %235 NYI NP9 OIIN %235 AW NIPINTH NNYTT

that perhaps since she was wanton with the o198, she was also wanton

with anyone else; that is why 21 maintains that the 791 is a 7man.*> This concludes the
citation of the X3 in Mn2>.

mMooIn continues with the question:
- 1 AN XY Pywins 1399 959N TWAT ¥RWM NN NPT RN NIN 99N NN

However, 701 27 states here that there is no reason for concern, firstly
because the 017X admitted that he had relations with the 7917X. The X772
continues and says; secondly there is no concern, even if he weren’t 77,
since the 71377 is according to 3"1. So this indicates that according to the
'R, the 791 is 9w> even according to ''7. It is only when the 01X was not
7717, that 901 27 said the 791 is W3, since the 71997 is like 3"1. However when
the 019X is 717n, then the 791 is 7w according to everyone, even >"1. And the

case of X2 (in Mn2°) is similar to the case of 77 (here);** in both case we (only)
know that the 7017%1 017X had relations.

mooin did not entirely conclude the question yet. However n1901n anticipates a possible

" This is in opposition to the *1X7 X2°X there, which maintains that 2W»w1 27 argue in a case of 701X
772°Yw, not by 1MNO1IN Sy xan.

20 »ax disagrees with X271 who (as previously cited) maintains that the np12mn is when Xnoyn x27.

! We know she was 017X *23% w1 17p5n because we are discussing a case of 1% 122 101K %Y K27,

** See ‘Thinking it over’ # 1.

2 1f the child is 2w [even] according to *"1 (and 2"), then how can 271 maintain that 217 7937

* 1t seems that MO equates Xa (a case where it is known [perhaps through 0*79] that they had relations)
with 771 (a case where the 017X states that they had relations). The 777 of the 017X is more believable than
the claim of the 7017X. The 7017X has a vested interest in claiming that she had relations only with the o17X:
otherwise; a. she is 711 217, b. she becomes 733737 77109, c. her child is a 7y, etc. The 017X, however,
would not admit to having relations with the 77017X unless it was true. He gains nothing by saying they had
relations if it is not true; for a. it is not his child, and b. he did something wrong.

6

TosfosInEnglish.com



X177 77 '0I0 2,30 Mo 702

doubt that &2 and 77 are similar. Perhaps 77 here means that the 017X testifies that the
child must be from him, because he knows for certain that the 77019% had no relations with

anyone else. M»doIN rejects this view:
- P5Y AV 9MIN NPAY NIN 1N NINT N1 NNT

For when the X712 here says the 01X was 7771, it does not mean any more

than that he states that he had relations with her —
- Bm3tn XYW N29INY NPINN 23T 19N NYY NVIWST

For it is obvious that he was not trailing after her to ambush her that
she should not commit adultery.

We have concluded that the case here of 777 and the case of X277 are similar. According
to Max the case of X277 is even when Xnovn Xn»7 R (as is the case here). mdoIn concludes
his question:

= INIY? N3 NXIN NON ININYY 193 299 1)

And according to both ®Xmw 29 (in NM»2° and 717R) the 71 is forbidden

to marry a BRI N2; 21 clearly says 1 7917, and YXMw agrees that he is na2 MO
R —
= PYITPT NN P93 1YWY 101 INIWS 32 NONT 1391 HNINY 9MINT 'PINYY

For when 9xvw ruled that the 71 is a *»1w,2® it means that the 71 is oK

bX"w na2 according to all the opinions in the last P25 of aswy7p NoON -
- Psa0 nwp o3 ro1rat NawrY

And according to the opinion that *>\nw of XMWY means “2172; we ask the

mother and accept her testimony it is also even more difficult —
= NY YUY %299 HaN INOD) 1299 NUN AWAN NS OND NPT 21 HY IDaNT YawnT

for it seems from the X7n) there that even through the inquiry of the
mother when she claimed that the 017 fathered the child the 71 is not 2w>
except according to 3'"1;>® who is generally of the opinion the 7wX is

* A woman can claim she had no relations except for the 917x. The 019% however cannot make such a claim
concerning the 7017X.

% This is according to the original (and final) text in 7"217°p before we said 719°X.

*" The term >IN means that he is a 77 Poo and 87w N2 oK. [Even if *p1nw means >p173, the 791 is 710K,
unless we ask the mother.]

* This is according to the last opinion in the X723 that T12°n X% 07w9.

* One may have thought that according to the 17 of *172 there is no such contradiction (compared to the
w5 of *Pinw), because if we examine her and she says *n?ya1 7wa7 she is believed; similar to what 701 21
says here according to the T¥1. However, according to the 175 of *pinw, she is never believed. nwown will
point out that the contradiction is even greater according to the 1% of 172,

3 The X713 there when it states that N3AX1 131 MR DX P72 continues immediately and explains 3"73 j&n2.
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believed, however according to '3 she is not believed and the child is 702.”!
This is what it seems from the m7»3 in NM2% PYITP, that according to XMW the 771 is 1OK
9% 23 (at least according to °") —

= NNIYY X1 AW NN RP NNT 99N NI

And here 701’ 21 states there is no concern for he is 7777 and the 771 is "w>
according to everyone including >".

The question in brief is that from the 'X71' it appears that if we know that there were
relations between the 7017X) 019X, the 791 is W2 even according to °"1 (without examining
the mother); however from the M7%3 in PWITPY MR it is apparent that even if there were
relations (NOIR v X277) the child is either a W or a “mn (if the mother is not
examined).

npoIn answers that there is difference between our X123 and 100X 7¥ X237
= 1PYY N2 NNN DYOY 139N DNNT NAT PHNY VI XYY

And perhaps we can differentiate between the two n7n3 that when the
Xna relates there that he was 101X Hv X2 that means that had relations

(only) one time; therefore there is a possibility that she became pregnant from

someone else and the 771 is 700 —
- 1397 N2 HPYY NAW 1997 21939 NPT XINT NN YaN

However here where the X713 states that he admitted when he said the
child is from me; he did not merely say that he had relations with her, but
rather he emphasized that he is certain that it is his child, which means that

they had frequent relations —
$9yaN NN TON MYI¥a 299 331)"1}32%‘191 RN NYSN 999 M

And they were constantly together; that is why the 771 is "> and as we
say concerning an adulteress woman that her children are nevertheless w3

because the majority of her relations were with the husband. In our case

also since she lived continuously with him we assume by following the rule of 217, that it
is his child.

SUMMARY

3! According to the W% of *»nw the xn3 is not discussing a case where they are p71a the mother; therefore
we cannot clearly state that she would not be believed if she claimed she only had relations with the 017X.
However, according to the W% of *172 the X713 states that if the mother claims she was only with the 01x,
she is believed only according to 3"1 and here we say that even without her testimony the child is "w3 even
according to *"1. See however nwn n?°X who suggests that the word "sv' should be omitted.

32 Perhaps it should read >x"n.

3 %10 o0,
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According to 2Xmw if the 701X claims she was only %va1 by the 01X (and
the 019X does not claim anything), the 791 is qw>. If the 017& claimed he had
continual relations with the 701X the 791 is w2, without ar7 np>72 (at least
when she was not RXnb%vn &1n°7). When the 01X admits to very limited
relations, that is the nP12nn between 2R 27; whether the child is a qman
according to 21 (if it was ¥n*7 according to X297, or even ¥1*7 X? according
to »ax), or either a >IN or a 172 according to Hxmw.>*

THINKING IT OVER
1. Mmoo mentions the explanation ™R gave for s'27 ruling; namely 775X
RNV 2239 w1 7P 0K 23 Iwol.” [Howl] is this relevant to our n190I1N?

2. 7o 21 mentions two reasons why the 721 is 2w2: 'X71' and "1 Our NMHOIN
asks three questions from the N0 in PwTP and N2, Which of these
questions are (mainly) on the 'R71' and which are (mainly) on the "11'?

** See ‘Chart” at the conclusion of the following ('®i7) X717 17"7 N1©OIN.
% See footnote # 22.
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